Bid #Z2113825B1 - Annual Civil Repairs and Maintenance - HWO

Start Date Jun 30, 2017 11:54:55 AM EDT Awarded Date Not Yet Awarded

Z2113825B101- 01 Base Bid: G 100 4.1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$2,450.00	5 / lump sum	\$12,250.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
"D" Electrician Technical Services Inc	First Offer - \$2,500.00	5 / lump sum	\$12,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$2,500.00	5 / lump sum	\$12,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Z2113825B101- 02 Base Bid: G 100 4.2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$2,950.00	5 / lump sum	\$14,750.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
"D" Electrician Technical Services Inc	First Offer - \$3,000.00	5 / lump sum	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$3,000.00	5 / lump sum	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Z2113825B101- 03 Base Bid: G 100 4.3					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$975.00	5 / lump sum	\$4,875.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
"D" Electrician Technical Services Inc	First Offer - \$1,000.00	5 / lump sum	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$1,000.00	5 / lump sum	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Z2113825B101- 04 Base Bid: G 100 4.4					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC [■]	First Offer - \$975.00	5 / day	\$4,875.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$1,000.00	5 / day	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Z2113825B101- 05 Base Bid: G 100 4.5.	1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$0.16	40 / day	\$6.40		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Danto Builders, LLC	First Offer - \$10.00	40 / day	\$400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 06 Base Bid: G 100 4.5.2								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$0.24	40 / day	\$9.60		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Danto Builders, LLC	First Offer - \$20.00	40 / day	\$800.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 07 Base Bid: G 100 4.5.3									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Jones Benitez Corporation	First Offer - \$0.60	40 / day	\$24.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Danto Builders, LLC	First Offer - \$20.00	40 / day	\$800.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

Z2113825B101- 08 Base Bid: G 100 4.5.4								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$0.45	40 / day	\$18.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Danto Builders, LLC	First Offer - \$20.00	40 / day	\$800.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 09 Base Bid: G 100 4.5.5								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$8.00	20 / day	\$160.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Danto Builders, LLC	First Offer - \$30.00	20 / day	\$600.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 10 Base Bid: G 100 4.5.6								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$8.00	20 / day	\$160.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Danto Builders, LLC	First Offer - \$20.00	20 / day	\$400.00		Υ			

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

Z2113825B101- 11 Base Bid: G 100 4.6								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$20.00	20 / day	\$400.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Danto Builders, LLC	First Offer - \$100.00	20 / day	\$2,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 12 Base Bid: G 100 4.7					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$32.00	50 / hour	\$1,600.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$45.00	50 / hour	\$2,250.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 13 Base Bid: G 100 4.8						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$350.00	5 / day	\$1,750.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$500.00	5 / day	\$2,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 14 Base Bid: P 105 5.1							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jones Benitez Corporation	First Offer - \$180.00	5 / day	\$900.00		Υ		
		Supplier Product Code: Supplier Notes:					
Danto Builders, LLC	First Offer - \$1,195.00	5 / day	\$5,975.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Z2113825B101- 15 Base Bid: P 105 5.2							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jones Benitez Corporation	First Offer - \$4,000.00	5 / lump sum	\$20,000.00		Υ		
		Supplier Product Code: Supplier Notes:					
Danto Builders, LLC	First Offer - \$4,900.00	5 / lump sum	\$24,500.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Z2113825B101- 16 Base Bid: P 108 5.1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$4.00	500 / square yard	\$2,000.00		Y
Product Code:		Supplier Product Co	ode:		

Agency Notes:		Supplier Notes:				
Danto Builders, LLC	First Offer - \$13.00	500 / square yard	\$6,500.00	Υ		
Product Code:	Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:				

Z2113825B101- 17 Base Bid: P 108 5.2							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jones Benitez Corporation	First Offer - \$6.00	500 / square yard	\$3,000.00		Υ		
		Supplier Product Code: Supplier Notes:					
Danto Builders, LLC	First Offer - \$18.00	500 / square yard	\$9,000.00		Υ		
		Supplier Product Code: Supplier Notes:					

Z2113825B101- 18 Base Bid: P 151 4.2a							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Danto Builders, LLC	First Offer - \$1,000.00	1 / acre	\$1,000.00		Y		
		Supplier Product Code: Supplier Notes:					
Jones Benitez Corporation	First Offer - \$7,500.00	1 / acre	\$7,500.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Z2113825B101- 19 Base Bid: P 151 4.2b							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Danto Builders, LLC	First Offer - \$2,000.00	1 / acre	\$2,000.00		Υ		
		Supplier Product Code: Supplier Notes:					
Jones Benitez Corporation	First Offer - \$15,000.00	1 / acre	\$15,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Z2113825B101- 20 Base Bid: P 151 4.2c							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Danto Builders, LLC	First Offer - \$3,000.00	1 / acre	\$3,000.00		Υ		
		Supplier Product Code: Supplier Notes:					
Jones Benitez Corporation	First Offer - \$22,500.00	1 / acre	\$22,500.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	•			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$4,000.00	1 / acre	\$4,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$30,000.00	1 / acre	\$30,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$500.00	15 / each	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$4,000.00	15 / each	\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Z2113825B101- 23 Base Bid: P 151 4.4						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$750.00	15 / each	\$11,250.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$8,000.00	15 / each	\$120,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

Z2113825B101- 24 Base Bid: P 151 4.5						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$1,000.00	15 / each	\$15,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$12,000.00	15 / each	\$180,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

Z2113825B101- 25 Base Bid: P 152 4.1						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jones Benitez Corporation	First Offer - \$10.00	1500 / cubic yard	\$15,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$15.00	1500 / cubic yard	\$22,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		•	

Z2113825B101- 26 Base Bid: P 152 4.5						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jones Benitez Corporation	First Offer - \$14.00	1500 / cubic yard	\$21,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$15.00	1500 / cubic yard	\$22,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 27 Base Bid: P 152 4.8					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$4.00	1500 / square yard	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	upplier Product Code:		
Jones Benitez Corporation	First Offer - \$8.00	1500 / square yard	\$12,000.00		Υ
Product Code:		Supplier Product Co	ode:		

Agency Notes: Supplier Notes:

Z2113825B101- 28 Base Bid: P 152 4.9						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$4.00	1000 / square yard	\$4,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$10.00	1000 / square yard	\$10,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 29 Base Bid: P 152 4.10								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$100.00	12 / hour	\$1,200.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Danto Builders, LLC	First Offer - \$110.00	12 / hour	\$1,320.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 30 Base Bid: P 152 4.11								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Danto Builders, LLC	First Offer - \$150.00	12 / hour	\$1,800.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Jones Benitez Corporation	First Offer - \$200.00	12 / hour	\$2,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 31 Base Bid: P 152 4.12								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Danto Builders, LLC	First Offer - \$100.00	12 / hour	\$1,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Jones Benitez Corporation	First Offer - \$130.00	12 / hour	\$1,560.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 32 Base Bid: P 152 4.13								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$60.00	12 / hour	\$720.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Danto Builders, LLC	First Offer - \$90.00	12 / hour	\$1,080.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 33 Base Bid: P 156 5.1b	ı				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$20.00	100 / linear foot	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Jones Benitez Corporation	First Offer - \$20.00	100 / linear foot	\$2,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

Z2113825B101- 34 Base Bid: P 156 5.1c								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Danto Builders, LLC	First Offer - \$10.00	250 / cubic yard	\$2,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Jones Benitez Corporation	First Offer - \$45.00	250 / cubic yard	\$11,250.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

Z2113825B101- 35 Base Bid: P 156 5.1e						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$2.00	500 / linear foot	\$1,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$4.00	500 / linear foot	\$2,000.00		Υ	
		Supplier Product Code: Supplier Notes:				

Z2113825B101- 36 Base Bid: P 56 5.1f						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$60.00	10 / each	\$600.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$120.00	10 / each	\$1,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 37 Base Bid: P 156 5.1g							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jones Benitez Corporation	First Offer - \$16.00	250 / square yard	\$4,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Danto Builders, LLC ■	First Offer - \$20.00	250 / square yard	\$5,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

Z2113825B101- 38 Base Bid: P 602 5.1						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$7.00	100 / gallon	\$700.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$9.00	100 / gallon	\$900.00		Υ	
		Supplier Product Code: Supplier Notes:				

Z2113825B101- 39 Base Bid: P 610 5.1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Danto Builders, LLC	First Offer - \$150.00	25 / cubic yard	\$3,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Jones Benitez Corporation	First Offer - \$750.00	25 / cubic yard	\$18,750.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 40 Base Bid: P 610 5.2						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jones Benitez Corporation	First Offer - \$3.50	75 / pound	\$262.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$7.00	75 / pound	\$525.00		Υ	
		Supplier Product Code: Supplier Notes:				

Z2113825B101- 41 Base Bid: P 610 5.3							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jones Benitez Corporation	First Offer - \$4.00	75 / pound	\$300.00		Υ		
Product Code: Agency Notes:	•		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$7.00	75 / pound	\$525.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

Z2113825B101- 42 Base Bid: P 610 5.4						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$10.00	1250 / square foot	\$12,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$14.00	1250 / square foot	\$17,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 43 Base Bid: F 162 5.1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$30.00	500 / linear foot	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Jones Benitez Corporation	First Offer - \$60.00	500 / linear foot	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 44 Base Bid: F 162 5.2						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$30.00	500 / linear foot	\$15,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$45.00	500 / linear foot	\$22,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 45 Base Bid: F 162 5.3					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$30.00	500 / linear foot	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$80.00	500 / linear foot	\$40,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 46 Base Bid: F 162 5.4								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Danto Builders, LLC	First Offer - \$9,995.00	1 / each	\$9,995.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Jones Benitez Corporation	First Offer - \$16,000.00	1 / each	\$16,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

Z2113825B101- 47 Base Bid: F 162 5.5									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Danto Builders, LLC	First Offer - \$9,995.00	1 / each	\$9,995.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:						
Jones Benitez Corporation	First Offer - \$20,000.00	1 / each	\$20,000.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

Z2113825B101- 48 Base Bid: F 162 5.6								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Danto Builders, LLC	First Offer - \$9,995.00	1 / each	\$9,995.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:						
Jones Benitez Corporation	First Offer - \$28,000.00	1 / each	\$28,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	•				

Z2113825B101- 49 Base Bid: F 162 5.7									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Danto Builders, LLC	First Offer - \$9,995.00	1 / each	\$9,995.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		ode:						
Jones Benitez Corporation	First Offer - \$36,000.00	1 / each	\$36,000.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

Z2113825B101- 50 Base Bid: F 162 5.8					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$1,200.00	1 / each	\$1,200.00		Υ
Product Code: Agency Notes:					
Jones Benitez Corporation	First Offer - \$2,400.00	1 / each	\$2,400.00		Υ

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:

Z2113825B101- 51 Base Bid: T 904 5.1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$3.50	1250 / square yard	\$4,375.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Danto Builders, LLC	First Offer - \$9.90	1250 / square yard	\$12,375.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 52 Base Bid: T 905 5.1							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jones Benitez Corporation	First Offer - \$4.00	5000 / square yard	\$20,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Danto Builders, LLC	First Offer - \$9.90	5000 / square yard	\$49,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

Z2113825B101- 53 Base Bid: L 112 5.1								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$24.00	100 / linear foot	\$2,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:						
Danto Builders, LLC ■	First Offer - \$30.00	100 / linear foot	\$3,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 54 Base Bid: 121 1						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$185.00	50 / cubic yard	\$9,250.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:				
Jones Benitez Corporation	First Offer - \$200.00	50 / cubic yard	\$10,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 55 Base Bid: 334 1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$300.00	25 / ton	\$7,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$725.00	25 / ton	\$18,125.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 56 Base Bid: 334 2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$350.00	25 / ton	\$8,750.00		Υ
Product Code:		Supplier Product Co	ode:		

Agency Notes:		Supplier Notes:		
Danto Builders, LLC	First Offer - \$625.00	25 / ton	\$15,625.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

Z2113825B101- 57 Base Bid: 334 3								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$250.00	50 / ton	\$12,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Danto Builders, LLC	First Offer - \$300.00	50 / ton	\$15,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 58 Base Bid: 334 4					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$300.00	25 / ton	\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:			
Danto Builders, LLC	First Offer - \$425.00	25 / ton	\$10,625.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 59 Base Bid: P 154 5.1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$10.00	1500 / square yard	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$18.00	1500 / square yard	\$27,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 60 Base Bid: P 211 5.1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$46.00	1500 / cubic yard	\$69,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Danto Builders, LLC	First Offer - \$65.00	1500 / cubic yard	\$97,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		•

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$20.00	1500 / square yard	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Jones Benitez Corporation	First Offer - \$32.00	1500 / square yard	\$48,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Danto Builders, LLC	First Offer - \$20.00	1500 / square yard	\$30,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Jones Benitez Corporation	First Offer - \$36.00	1500 / square yard	\$54,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

Z2113825B101- 63 Base Bid: P 211 5.5					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$5.00	1500 / square yard	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	Code:		
Jones Benitez Corporation	First Offer - \$12.00	1500 / square yard	\$18,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 64 Base Bid: P 211 5.6								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$16.00	1500 / cubic yard	\$24,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:): 				
Danto Builders, LLC	First Offer - \$28.00	1500 / cubic yard	\$42,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		•			

Z2113825B101- 65 Base Bid: P 401 8.1								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$350.00	50 / ton	\$17,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Danto Builders, LLC	First Offer - \$550.00	50 / ton	\$27,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 66 Base Bid: P 401 8.4					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$400.00	50 / ton	\$20,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Danto Builders, LLC	First Offer - \$550.00	50 / ton	\$27,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 67 Base Bid: P 605 5.1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$7.00	100 / linear foot	\$700.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$150.00	100 / linear foot	\$15,000.00		Υ
Product Code:		Supplier Product Co	ode:		

Agency Notes: Supplier Notes:

Z2113825B101- 68 Base Bid: P 605 5.2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$4.00	100 / linear foot	\$400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Danto Builders, LLC	First Offer - \$7.00	100 / linear foot	\$700.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 69 Base Bid: P 608 8.1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$6.00	500 / square yard	\$3,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Danto Builders, LLC	First Offer - \$10.00	500 / square yard	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 70 Base Bid: P 608 8.1a					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$6.00	500 / square yard	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Danto Builders, LLC	First Offer - \$10.00	500 / square yard	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 71 Base Bid: P 620 5	.1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$1.95	2500 / square foot	\$4,875.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:) :		
Jones Benitez Corporation	First Offer - \$3.00	2500 / square foot	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:) :		

Z2113825B101- 72 Base Bid: P 620 5.1a					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$1.00	2500 / square foot	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$2.00	2500 / square foot	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 73 Base Bid: P 620 5.2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$1.00	2500 / square foot	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Jones Benitez Corporation	First Offer - \$2.00	2500 / square foot	\$5,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

Z2113825B101- 74 Base Bid: P 620 5.3					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$1.00	2500 / square foot	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$4.00	2500 / square foot	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 75 Base Bid: P 620 5.3a					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$1.00	2500 / square foot	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Jones Benitez Corporation	First Offer - \$4.00	2500 / square foot	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

Z2113825B101- 76 Base Bid: P 620 5.4					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$2.45	2500 / square foot	\$6,125.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$6.00	2500 / square foot	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 77 Base Bid: L 108 5.1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$18.00	100 / linear foot	\$1,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$60.00	100 / linear foot	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 78 Base Bid: L 108 5.2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$90.00	100 / linear foot	\$9,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier Unit Price Qty/Unit Total Price At	Supplier	Attch. Docs

Jones Benitez Corporation	First Offer - \$4.00	100 / linear foot	\$400.00		Υ	
		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$6.50	100 / linear foot	\$650.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
"D" Electrician Technical Services Inc	First Offer - \$17.39	100 / linear foot	\$1,739.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jones Benitez Corporation	First Offer - \$4.00	100 / linear foot	\$400.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Danto Builders, LLC	First Offer - \$6.50	100 / linear foot	\$650.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
"D" Electrician Technical Services Inc	First Offer - \$19.11	100 / linear foot	\$1,911.00		Υ	
		Supplier Product Code: Supplier Notes:				

Z2113825B101- 81 Base Bid: L 108 5.5					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$80.00	25 / each	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Danto Builders, LLC	First Offer - \$170.00	25 / each	\$4,250.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
"D" Electrician Technical Services Inc	First Offer - \$389.01	25 / each	\$9,725.25		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 82 Base Bid: L 108 5.6					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$4.00	100 / linear foot	\$400.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$7.50	100 / linear foot	\$750.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 83 Base Bid: L 108 5.7						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$7.50	100 / linear foot	\$750.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$8.00	100 / linear foot	\$800.00		Υ	
		Supplier Product Code: Supplier Notes:				

Z2113825B101- 84 Base Bid: L 108 5.8					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC [■]	First Offer - \$7.50	125 / linear foot	\$937.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$10.00	125 / linear foot	\$1,250.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 85 Base Bid: L 108 5.9						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jones Benitez Corporation	First Offer - \$25.00	125 / linear foot	\$3,125.00		Υ	
		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$26.00	125 / linear foot	\$3,250.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 86 Base Bid: L 110 5.1						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$15.00	100 / linear foot	\$1,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$15.00	100 / linear foot	\$1,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		•	

Z2113825B101- 87 Base Bid: L 110 5.2						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$45.00	100 / linear foot	\$4,500.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$200.00	100 / linear foot	\$20,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 88 Base Bid: L 110 5.3					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$85.00	100 / linear foot	\$8,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jones Benitez Corporation	First Offer - \$300.00	100 / linear foot	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 89 Base Bid: L 110 5.4						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$175.00	100 / linear foot	\$17,500.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Jones Benitez Corporation	First Offer - \$400.00	100 / linear foot	\$40,000.00		Υ	

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

Z2113825B101- 90 Base Bid: L 110 5.5								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$200.00	2 / each	\$400.00		Υ			
		Supplier Product Code: Supplier Notes:						
Danto Builders, LLC	First Offer - \$275.00	2 / each	\$550.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Z2113825B101- 91 Base Bid: L 110 5.6							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Danto Builders, LLC	First Offer - \$7.00	500 / linear foot	\$3,500.00		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$10.00	500 / linear foot	\$5,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

Z2113825B101- 92 Base Bid: L 115 5.1							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jones Benitez Corporation	First Offer - \$2,500.00	1 / each	\$2,500.00		Υ		
		Supplier Product Code: Supplier Notes:					
Danto Builders, LLC ■	First Offer - \$5,990.00	1 / each	\$5,990.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Z2113825B101- 93 Base Bid: L 115 5.2							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jones Benitez Corporation	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Danto Builders, LLC	First Offer - \$7,000.00	1 / each	\$7,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Z2113825B101- 94 Base Bid: L 115 5.3							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Danto Builders, LLC	First Offer - \$1,700.00	2 / each	\$3,400.00		Υ		
		Supplier Product Code: Supplier Notes:					
Jones Benitez Corporation	First Offer - \$4,000.00	2 / each	\$8,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Z2113825B101- 95 Base Bid: L 115 5.4					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation F	First Offer - \$400.00	1 / each	\$400.00		Υ
Product Code:		Supplier Product Code:			

Agency Notes:		Supplier Notes:			
Danto Builders, LLC	First Offer - \$1,700.00	1 / each	\$1,700.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

Z2113825B101- 96 Base Bid: L 121 5.1							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Danto Builders, LLC	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ		
		Supplier Product Code: Supplier Notes:					
Jones Benitez Corporation	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Z2113825B101- 97 Base Bid: L 121 5.2								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Danto Builders, LLC	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
"D" Electrician Technical Services Inc	First Offer - \$2,300.00	2 / each	\$4,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Jones Benitez Corporation	First Offer - \$32,000.00	2 / each	\$64,000.00		Υ			
		Supplier Product Code: Supplier Notes:						

Z2113825B101- 98 Base Bid: L 123 5.1						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$8,995.00	1 / each	\$8,995.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$42,000.00	1 / each	\$42,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

Z2113825B101- 99 Base Bid: L 123 5.2							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Danto Builders, LLC	First Offer - \$9,995.00	1 / each	\$9,995.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Jones Benitez Corporation	First Offer - \$52,000.00	1 / each	\$52,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Z2113825B101- 100 Base Bid: L 123 -5.5							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Danto Builders, LLC	First Offer - \$8,995.00	1 / each	\$8,995.00		Υ		
		Supplier Product Code: Supplier Notes:					
Jones Benitez Corporation	First Offer - \$10,000.00	1 / each	\$10,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Z2113825B101- 101 Base Bid: L 123 5.6							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Danto Builders, LLC	First Offer - \$8,995.00	1 / each	\$8,995.00		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$12,000.00	1 / each	\$12,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Z2113825B101- 102 Base Bid: L 123 5.7								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Danto Builders, LLC	First Offer - \$8,995.00	1 / each	\$8,995.00		Υ			
		Supplier Product Code: Supplier Notes:						
Jones Benitez Corporation	First Offer - \$14,000.00	1 / each	\$14,000.00		Υ			
		Supplier Product Code: Supplier Notes:						

Z2113825B101- 103 Base Bid: L 123 5.8								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Danto Builders, LLC	First Offer - \$10,995.00	1 / each	\$10,995.00		Υ			
		Supplier Product Code: Supplier Notes:						
Jones Benitez Corporation	First Offer - \$16,000.00	1 / each	\$16,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

Z2113825B101- 104 Base Bid: 347 1						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$350.00	25 / cubic yard	\$8,750.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$450.00	25 / cubic yard	\$11,250.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 105 Base Bid: 520 1						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jones Benitez Corporation	First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ	
		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$45.00	100 / linear foot	\$4,500.00		Υ	
		Supplier Product Code: Supplier Notes:				

Z2113825B101- 106 Base Bid: 520 2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$40.00	100 / linear foot	\$4,000.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

Jones Benitez Corporation	First Offer - \$42.00	100 / linear foot	\$4,200.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

Z2113825B101- 107 Base Bid: 520 3								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jones Benitez Corporation	First Offer - \$5.00	100 / linear foot	\$500.00		Υ			
		Supplier Product Code: Supplier Notes:						
Danto Builders, LLC	First Offer - \$20.00	100 / linear foot	\$2,000.00		Υ			
		Supplier Product Code: Supplier Notes:						

Z2113825B101- 108 Base Bid: 522 1									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Jones Benitez Corporation	First Offer - \$52.00	100 / square yard	\$5,200.00		Υ				
		Supplier Product Code: Supplier Notes:							
Danto Builders, LLC	First Offer - \$60.00	100 / square yard	\$6,000.00		Υ				
		Supplier Product Code: Supplier Notes:							

Z2113825B101- 109 Base Bid: 522 2						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$300.00	25 / square yard	\$7,500.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$750.00	25 / square yard	\$18,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 110 Base Bid: 536 1						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jones Benitez Corporation	First Offer - \$24.00	250 / linear foot	\$6,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$30.00	250 / linear foot	\$7,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 111 Base Bid: 536 2						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jones Benitez Corporation	First Offer - \$150.00	10 / each	\$1,500.00		Υ	
		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$200.00	10 / each	\$2,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 112 Base Bid: 536 3					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Danto Builders, LLC	First Offer - \$400.00	10 / each	\$4,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$32.00	10 / each	\$320.00		Y

Z2113825B101- 113 Base Bid: 536 4						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jones Benitez Corporation	First Offer - \$3.00	250 / linear foot	\$750.00		Υ	
		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$5.00	250 / linear foot	\$1,250.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 114 Base Bid: 536 5						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jones Benitez Corporation	First Offer - \$8.00	250 / linear foot	\$2,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$9.00	250 / linear foot	\$2,250.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 115 Base Bid: 536 6					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$130.00	10 / each	\$1,300.00		Υ
		Supplier Product Code: Supplier Notes:			
Danto Builders, LLC	First Offer - \$200.00	10 / each	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 116 Base Bid: 705 1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$28.00	5 / each	\$140.00		Υ
		Supplier Product Code: Supplier Notes:			
Danto Builders, LLC	First Offer - \$395.00	5 / each	\$1,975.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 117 Base Bid: 705 2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jones Benitez Corporation	First Offer - \$46.00	100 / each	\$4,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Danto Builders, LLC	First Offer - \$120.00	100 / each	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Z2113825B101- 118 Base Bid: 706 1						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$1.00	100 / each	\$100.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$1.50	100 / each	\$150.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 119 Base Bid: 706 2						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jones Benitez Corporation	First Offer - \$3.00	100 / each	\$300.00		Υ	
		Supplier Product Code: Supplier Notes:				
Danto Builders, LLC	First Offer - \$7.50	100 / each	\$750.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 120 Base Bid: 710 1						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Danto Builders, LLC	First Offer - \$1.00	2500 / square foot	\$2,500.00		Υ	
		Supplier Product Code: Supplier Notes:				
Jones Benitez Corporation	First Offer - \$4.00	2500 / square foot	\$10,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Z2113825B101- 121 Base Bid: 711 1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Danto Builders, LLC	First Offer - \$3.95	2500 / square foot	\$9,875.00		Υ
		Supplier Product Code: Supplier Notes:			
Jones Benitez Corporation	First Offer - \$6.00	2500 / square foot	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier Totals

Bid Contact

Jeff Jones

f Danto Bui	lders, LLC	\$966,202.50	(121/121 items)	_
Bid Contact	DEBBIE D DANTO DEBBIE@DANTOBUILDERS.COM Ph 954-229-2006 Fax 954-229-2003	Address 1121 NW 51 Fort Lauderd	st Court dale, FL 33309	
Qualifications	DBE SB			
Bid Bond	(Status: Authorized on Aug 2, 2017)			
Agency Note	es:	Supplier Notes:		Head Attch:
f Jones Ber	nitez Corporation	\$1,678,930.50	(121/121 items)	

Address 14877 SW 45th Court

Qualifications	jeff@jonesbenitez.com Ph 786-877-8766 CBE DBE MBE SB SBE WBE	Miramar, FL 33027	
Bid Bond	Status: Authorized on Aug 2, 2017)		
Agency Note	s:	Supplier Notes:	Head Attch:
"D" Electric	ian Technical Services Inc	\$50,475.25	(7/121 items)
Bid Contact	Terrence Davis info@delectrician.com Ph 954-726-0394	Address 4064 NE 8th Ave Oakland Park, FL 33334	
Supplier Code	VC0000111141		
Qualifications	CBE DBE MBE SB SBE		
Agency Note	s:	Supplier Notes:	